Day 3 - Slope, Intercept Form of the Equation (after).notebook December 05, 2016
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Which lines are yF-1x-6 m= -4
parallel? (sawa slope)

perpendicular? (cppsie ‘QC\P(&«\J
Where is the slope??
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The equation 1s said to be in

Slope-Intercept Form
* m = Slope
* b = y-intercept
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. M= 2

m= %

=3 | M= m= %4
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http://www.purplemath.com/modules/slopgrph.htm
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ind the Slope and F-ntercent

1 ) y — §X +A Slope(m): W = 5
y-intercept(b): b = Lt
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2) gz — 6x + 8 Slope(m): =5

9 9 o y-intercept(b): !) =Y

g3
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3) a) y +3=12x+7 Slope(m): M=

AN
o
-3 -3
\\) 3= X + ] y-intercept(b): b:L'\

=1
b) State the parallel m | p
slope of the equation.
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4) State the perpendicular (ggesde cigras))

slope of the equation D ‘““L : '% \
2(y - 4) =4x - 8
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— N
5) a) @m‘ 6 Slope(m): ’7\2—%

~3\\) = 6& -6 -3 y-intercept(b): b=3
- 5x—9
-3 3 3
J=(2x *i
S

= )
b) State the perpendicular ml 5
slope of the equation.
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6) State the parallel all = 4
slope of the equation

+3y=3x-6
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